22

NSM/NSM2

TYPE SPRING MOUNT (ZZX#2| : 25mm, 50mm)

HiEel §4

U AT OR2ERN YRR L4600 ATRI0| 9|22 1 BE|X| g0} HA]
zap7h on SH S0 HelE HAY = %E AHO|X|7F MX|=|0f QULCH, AbSHE
SH2ZEI0| POLYCABONATE RHZEle| ZRtAEIOZ JPAE|0] QI 2 =2 6150 oA
0|0 &t2E! L{E0fl DFER|Z Anti-friction rubber?} Q101 T&| %“gjg Xzt a7t Qi
S ASHE MEH0| CRAISS| YWRIIHES R A510] STEEL X 2E2|E HEA| E|

HIEF 7| A2 DH|20| M= Z1S gx[sict,

I
HE2 8=
£3714T8
- BI|ES| HElZ
CHI= QAR HEXIE

- 7|Ef HE0| 2 Fulo| Ul

HiEel 4
No. =% TE 4

1 Non Skid Pad CR KS M 6617

2 Lower Housing E-PLASTIC -

3 Upper Housing E-PLASTIC -

4 Coil Spring SUP9 KS B 2402
HSW3 KS B 2403

5 Upper Non Skid Pad CR KS M 6617

6 Level Bolt SS400 KS B 1002

DIMENSION & SELECTION GUIDE BY LOADS

B8 NSM-50 |
| Bt

q rags- sV co. LT

=

'

. M23E AmZMNA D3 B9 Dimension(mm)

i beh bghm (@ (mm) A B c D H  LevelBolt
NSM-25 25 1.0 0.44
NSM-50 50 20 046
NSM-T5 75 30 0.50 132 104 4 13 115 M10 x 60
NSM-100 100 40 054
NSM-150 150 6.0 116
NSM-200 200 8.0 122 25
NSM-300 300 10 136 170 134 99 14 143 M12 x 65
NSM-400 400 160 138
NSM-500 500 200 208
NSM-600 600 240 214 190 152 110 14 165 M16 x 80
NSM-750 750 300 222
NSM2-50 50 1.0 244
NSM2-100 100 20 250
NSM2-150 150 3.0 246
NSM2-200 200 40 250
NSM2-300 300 60 270 50 220 183 137 14 178 M12 x 80
NSM2-400 400 80  3.06
NSM2-500 500 100 276
NSM2-600 600 120 262
NSM2-750 750 150 292

(NOTE) 2 112 U Al = HIZe] d5 3 SIS /6 AFE o1 glo] ' & = l&Lch



NOISE SHOCK AND VIBRATION CONTROL | NSM/NSM2

0 10 20 30 40 50 60 70
Displacement[ mm]

100 1 000
—— NSM-25 ——NSM-25
7 1 ——NSM-50 = ——NSM-50
% ——NSM-75 ‘5 ——NSM-75
s ——NSM-100 g 100 ——NSM-100
=R ——NSM—150 o ——NSM-150
] \ —— NSM-200 % ——NSM-200
2 o1 ——NSM-300 2 —— NSM-300
@ \ 10 &
2 ~| NSM—400 2 NSM—400
Eo.01 S —— NSM-500 & —— NSM-500
———f| —nNsM-600 —— NSM-500
e —— NSM-750 . —— NSM-750
0 10 20 30 40 50 10 20 30 40 50
Frequencyl Hz] Frequency [ Hz]
LI HHO =0
6t=-H¢| Graph LTSS AN
9 000 1 000
——NSM-25
8 000 ——NSM-50 Iy
7 000 ——NSM-75 =
6 000 L ——NSM-100 2 100
Z5 000 ——NSM-150 g
. ——NSM-200 &
- ——NSM-300 g
3 000 NSM—-400 5 10
2 000 ——NSM-500 a
1 0001— = ~——NSM-600
0 10 20 30 5 10 20 30 40 50
Displacement[ mm] Natural Frequency of the System[Hz]
—
Ms8iT - NSM2
o
Mg Graph =244 Graph
10 1 000
——NSM2-50 ——NSM2-50
7 ——NSM2-100 'E ——NSM2-100
@
= \ ——NSM2-150 =z - ——NSM2-150
5 o
= o1 = ——NSM2-200 g 1| —nNSm2—-200
= = —
@ ——NSM2-300 E == ——NSM2-300
£ 0.01 — NSM2-400 . [T —= NSM2-400
2 e —— E 10
& ——NSM2-500 < ——NSM2-500
~0.001 a
: ——NSM2-600 ——NSM2-600
—— ——NSM2-750 , —— NSM2-750
0 10 20 30 a0 50 0 10 20 30 40 50
Frequency[ Hz] Frequencyl Hz]
—~ = [] -
6t=-H¢| Graph LTSS AN
12 000 1000
——NSM2-50
10 000 —— NSM2-100 g
——NSM2-150 9
8 000 § 100
= —— NSM2—-200 E
Z o
6 000 ——NSM2-300 B
8 /
- 4 000 W // BGME D g
= — 5 10
—— NSM2-500 2
4 // EEazs a
2 000 EREACCammaass —— NSM2-600
|
0- 1

5 10 20
Natural Frequency of the System[Hz]

30 40 50

23



